039-082-ACP-APM 2012.9.7 2:25 PM slo]x]41 =LA A} $ easEl [
Series A CP

ACP
Standard Type/Double Acting : Single Rod o
Bore Size(mm) : @6, @10, @16 AS
AX

® STAINLESS STEEL BODY
® HIGH CYCLE LIFE AM2

R ® LOW BREAKAWAY AM
® BUMPERS STANDARD
® BUILT IN MAGNET Ak
® COMPACT LIGHT DESIGN x
Symbol ASQ
o Double Acting/Single Rod ﬁg%g

AJ
AM

ABK
ACK1
NSK
How to Order =
AG

=

GX
(1] Air Cylinder . PART No. of Mounting Bracket NP
Built—in magnet, Rubber cushions Bore
are standard Symbol\_size ®6 $10,$16
R - in—line Mounting Bore Size(mm) ADR
Mounting Blank |in-line| 90" bracket 46 410 416
B : Standard type
L : Axial foot type 6] Specia| OPtions Foot TC1P006—19 | TC1P0O10—-19 TC1P0O16—-19 AMR
F : Rod side flange type Blank : Standard Flange TC1P006—20 | TC1P0O10—20 | TC1P016—20
D : Double clevis type XC16 : Copper—free
(Except for ¢ 6) A Switch NDM
. uto Swite PART No. of Auto Switch Mounting Band
Bore Size(mm) (Band mounted type)
6: 6 W5 : Reed switch, 0.5m Lead Wire ARD
: 3 WL : Reed Switch, 3m Lead Wi . PART No. of Auto Switch
12 : ilg witc e Bore size I (i Note
Number of Auto Switches $6 TC1P006 NST
[4] Stroke(mm) Blank :2pcs 410 TC1PO10 Common use to
$6 1 5,10, 15, 20, 25, 30, 35, 40, 45, 50, S “1pc all of W5 types AST
60, 75, 100 N : N pes ¢ 16 TC1PO16
$10: 5,10, 15, 20, 25, 30, 35, 40, 45, 50, * Standard Type/Single Acting : Single Rod/Series ACPS
60,75, 100, 125, 150 ASTH
$16: 5,10, 15, 20, 25, 30, 35, 40, 45, 50,
60, 75, 100, 125, 150, 175, 200
[5] Port Location on Head Cover NLCD
NLCS
41

www. TPCpage.com
www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]42 3+ 1A} $ easEl [

Series ACP

Specifications

Notices for products

Pleagg qu"y understand the notices DT'O’ Operation Type Double Acting Single Rod
to utilization, and refer to safety notice - -
and common notice. Fluid Air
Proof Pressure 1.05MPa (149.34psi)
0 Warning Max. Operating Pressure 0.7MPa (99.5psi)
- - Lubri cation None (Non-Lube)
| Assembly/Disassembly of Snap Ring
Stoke length Tolerance o
@ Please use proper flyer (Attached tool of Piston Speed 50~750mm/s (2~29.5in/s)
C—type snap ring) for assembly / -
disassembly Min. O inq P $6 0.12MPa (17.06psi)
: in. Operating Pressure -
@ Please be cautious all the time that there is - - ST, G s 0.06!\/1Pa (?'SSDS?
a possible damage to human body or Ambinent and Fluid Temperature 40~140°F (5°C~60°C)
vicinity equipments owing to projection of Cushion Rubber Cushion (Standard)

snap ring at the end of flyer (C—type snap
ring) in spite of using proper flyer
(Attached tool of C—type snap ring).

After checking full connection of snap ring
during attachment, supply air.

Mounting Accessories

Mounting Basic type| Axial foot type|Rod side flange type| Double clevis type
Mounting nut o o o —
Standard|Rod end nut o o o o
Clevis pin - - — o
Single knuckle joint o - o o
Option |Double knuckle joint(vith pin) o o o o
T mounting - - - o

Auto Switch Specification

Rear Port Location On Head Cover

Perpendicular to the cylinder axis or in-line ) ) Reed Switch
) : ) ) . Mounting Bore Size G i

with the cylinder axis locations are available romme

for basic type. Band Mounted Type $6, 10, 16 W5 Type

(46 is not available in perpendicular type)

In-line 90°

Weight Table gf(o2)

Bore size(mm) $6 $10 $16
% Basic Weight 15(0.52) 24(0.84) 54(1.94)
Additional Weight for each 15mm of stroke 2(0.07) 4(0.14) 6.5(0.23)
Mounting | Foot type 7(0.25) 7(0.25) 19(0.67)
bracket | Rod side flange type 5(0.18) 5(0.18) 13(0.45)
Weight [ Double clevis type(with pin) - 2(0.08) 8(0.28)

#Including the weights of mounting nut and rod end nut in the reference weight.
#:%Doulble clevis type is not included with mounting nut.

“ﬂ o



039-082-ACP-APM 2012.9.7 2:25 PM 3|°]=]43 gh=LA A4} $

LEEEE e M K]

Series ACP

Construction/Parts List ACP
APM
AS
ACPB 6 AX
o ® 5 o AM2
AM
i AL
_ I —H- = — I ALX
Al
I B
A82
ADQ2
AJ
AJM
ABK
ACK1
ACPB 10, 16
NSK
o o e AG |
S / NGQ
— | _'_‘ L /I/{ v 'Sr!j.g‘?l,/ i % AGX
au v
(1] (1]
ADR
AMR
” NDM
Parts List
No.| Description Material Note No. Description Material Note ARD
© | Rodcover Aluminum Alloy White Alumite © | Rod Packing NBR - NST
@ | Head cover Aluminum Alloy White Alumite @ | Tube Gasket NBR -
(3] Cylinder tube Stainless Steel - @ | Piston Gasket NBR - AST
(1) Piston Brass - ® | Packing Retainer Aluminum Alloy -
@ | Piston rod Stainless Steel - ® | Bumper Urethane - ASTH
O | Mounting nut Brass Nickel Plated ® | Magnet Neodium -
(7] Rod end nut Rolled Steel Nickel Plated NLCD
® | Piston packing NBR -
NLCS
43

www.tpcpneumatics.com

www. TPCpage.com



039-082-ACP-APM 2012.9.7 2:25 PM slo]x]44 =LA A} $ easEl [

Series ACP

Standard Type (ACPB)

ACPB \Bore size H Stroke H Port Location on Head Cover\
ACPB 6 MM NN 2 A M5 0.8 Port size
o = M5x0.8 Port size
R a - :g%
(2 AT
Z SO — ‘
8
B A E_IT|. GA |GB =
H LG +Stroke
LT+Stroke
i NN 2 2-M5x0.8
o FA f FB
ACPB 10,16 N Port size == Port size M5X0.8
' ,‘g\ ﬂ}\ (T % [
A E| GA GB, _
H LG +Stroke Port Ioc?:]l_o“rrm]gr:m:aapdecover:
LT+ Stroke Perpendicular:ACP 10, 16
(mm)
Bore size A B @ D E |FA| FB| H MM GA | GB | ND h8 NN LG| T | LT
$6 15|12 | 14 3 8 [145| - 28 M3x0.5 16 7 6 ?0018 M6x1.0 | 49 3 |77
$10 15 | 12 | 14 4 8 8 5 28 M4x0.7 (12595 | 8 ?0.022 M8x1.0 | 45 = | 78
$16 15 | 18 | 20 5 8 8 5 28 M5x0.8 [12.5 | 9.5 10?0022 M10x1.0 | 45 - 73
Axial Foot (ACPL)
ACPL \Bore size H Stroke H Port Location on Head Cover\
NN M5x0.8
ACPL 6 il \ s = Port size (€]
o h
S y
= | 1
- H
| | — <r‘
- e <4
L | A x|y @ GB O
LM LG+Stroke |
X H
[y Pan) LT +Stroke Rod cover Head cover
I hd \K\ > side side
2-¢1C
Mounting hole
ACPL 10, 16 MM NN E_FA 2-MSX08 e
’ \ Port size tgC) Port size
\\ QE T ¢ M5x0.8
& 5 *
4 —
K/ 5 < /
LK A i lXI Y| GA GB [[JB | Port location on head cover:
f LG+Stroke ™~ in-line : ACPL 6
I Y/ —— l—H Perpendicular:ACPL 10, 16
LT+ Stroke
(mm)
Bore size A|B|C|D|E|FAFB| H|LC|LH|LA|LK|LL|LM| MM |GA|GB| NN |LG X |Y | LT
$6 15112114 3| 8 145 - | 28|45 9 |16|24|16.5 32 |M3x05| 16| 7 |[M6x10/49 | 3 | 5 | 7 |77
$10 1511214 4 | 8 | 8 28 |45 9| 16|24 (165 32 |M4x0.7(125/ 9.5 [M8x10[ 45 | - | 6 | 7 |73
$16 15118120 5| 8 | 8| 5| 28 |b55| 14| 23|33| 25| 42 |M5x0.8|12.5/ 9.5 [M10x10/ 45| - | 6 | 9 | 73




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]45 3+ 1A} $ easEl [

Series ACP
Rod Side Flange Type (ACPF) ACP

ACPF ‘Bore size H Stroke H Port Location on Head Cover ‘ APM
ACPF 6 -
MM NN T Port size . AS
\ M5x0.8 S
5
an T ¥ IS A AX
: -
FK 2-8FC
A
. FM_____|Mounting Hole v m._GA LG+Stroke EE oB AM2
LT +Strok Rod cover Head cover
otroke side side AM
ACPF 10, 16 v NN E FA  Portsize FB AL
\ 2-M5x0.8 RS Port size ALX
[a) (1 y M5x0.8
® 2 == MM AQ
| ADQ
2-8FC
FK ) A FT|| GA GB 0B [ Port location on head cover: A82
FM Mounting Hole pr LG+Stroke ™| in-line: ACPF 6 ADQ2
LT+ Stroke Perpendicular:ACPF 10, 16
AJ
(mm) | |AM
Bore size A|B|C|D]J|E|FC|FT|FK|FL|FM|FA |FB | H MM GA | GB NN LG| T | LT ABK
$6 15112114 |3 | 8 |45(1.6|24 |14 |32 [145| - |28 |M3x05 |16 | 7 | M6X1.0|49 | 3| 77
$10 15112 |14 | 4 8 |45(16 |24 |14|32 | 8 5 | 28 M4x0.7 125|/9.5|M8%x1.0| 45 | — | 73 ACK1
416 1511820 | b5 8 |55(23|33]20 (42| 8 5 | 28 | M5x0.8 12.5/9.5 | M10x10| 45 | — | 73
NSK

Double Clevis Type (ACPD) G
ACPD

NGQ

AGX
GX

NP

ACPD 10, 16

H LG+ Stroke QR

+0.030
FA Port size B $CDHo ' g CcA

o MM NN 2-M5x0.8 = Clevis pin CBLG} ADR

kY —\ ($cd d9*5%%)

@ s T DV RSURE [ AMR
2 .

— 7

] - NDM

$D

oB A GA

LT+ Stroke

ARD

NST

AST

(mm) ASTH
Bore size A | B C | CD(d) |[CB|CA| D |FA|FB| H MM GA | GB NN R |[LG| Q | LT

$10 15112 |14 33 3212 4| 8| 18|28 | M4x0.7 |125(225/M8x1.0| b | 45| 8 | 81
$16 15118 | 20 B 6518 | 6 | 8 | 23| 28 | M5X0.8 [12.5(27.5/M10x1.0| 8 | 45| 10 | 83

NLCD

NLCS

45

www. TPCpage.com
www.tpcpneumatics.com




LEEEE e M K]

039-082-ACP-APM 2012.9.7 2:25 PM silo]x]46 Q434 $

Series ACP
Accessaries/Parts List

Single Knuckle Joint

(mm)

7 - t JJ g -
I ¢NDwe A | MM ;[\8;
N Y =
P R ¢I=| o
NN
Wi G2

Material:Stainless steel Material:Stainless steel

PARTNo. (Bore| D |d | L |4 |m|t | Cib

TCIP0I0-23A|¢ 10|33 238 3 |162]122| 17|03 | Cled2
TCIP0IG-23A ¢ 16 |5 3501 48166(122] 1507 | Clied

PARTNo. |Bore| A |Li | MM | ND™ |NX]| Ri | Wi

TCIP0I0-17 [¢10] 8 |21 |M4x07(33 ™31
TCIPO16-17 |¢16] 8 |25 |M5x08]5  *0%|64]12 |14

=33

Counting Nut [l Rod End Nut

Double Knuckle Joint

'99/ d
/ /d_
7 L /J%
oA T f o f} o __%
/ \& h
. & J
s p— % A J
Wi g2
Material:Rolled steel Material:Brass Material:Steel
PART No. |Bore MM | ND™ [NX|W R PART No. Bore| A | C d J PART No. Bore C d J
TCIP010-18 | 610 MAX07 33 %%132(10 | 8 TCIPO06-13A | ¢6 | 8 |9.2 |Mx10 | 4 TCIP006-13B | ¢6 6.4 |M3x05 |24
TCIP016-18 | 616 MEX08 |5 81651 10|12 TCIPO10-13A | 10 | 11 [12.7 |M8x10 | 4 TC1P010-13B | ¢10 8.1 |M4x07 |32
TCIPO16-13A | 16 | 14 [16.2 |MI0X1.0 | 4 TCIP016-13B | $16 9.2 |M5x08 | 4




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]47 LA 1A} $ easEl [
Series ACF W

ACP
Standard Type/Double Acting : Double Rod o
Bore Size(mm) : @6, @10, &16 AS
AX
® STAINLESS STEEL BODY FOR HIGH
CYCLE LIFE & LOW BREAKAWAY AM2
® EASY MOUNTING
® BUMPERS STANDARD AM
® BUILT-IN MAGNET AL
® LIGHT COMPACT DESIGN ALX
ABa
Symbol
Double Acting/Double Rod ﬁg%g
AJ
\ | AIM
\ \
\ \ ABK
ACK1
NSK
How to Order o
NGQ
ACPW @ @ @ o
GX
NP
[1] Air Cylinder [5] Special Option ADR
Built-in magnet, Rubber cushions Blank : Standard
are standard XC16 : Copper-free
. ) AMR
Mounting [6] Auto Switch
B : Standard type (Band mounted type)
L : Axial foot type W5 : Reed Switch NDM
F : Rod side flange type 0.5m Lead wire
= WSL : Reed Switch, 3m Lead wire
Bore Size(mm) . t ARD
6 : ¢6 Number of Auto Switches
10: ¢10 Blank : 2 pcs NST
16: $16 s S 1pe
N : N pcs
(4] Stroke(mm) AST
$6: 10, 15, 20, 25, 30, 35, 40,
45, 50, 60
$10 : 10, 15, 20, 25, 30, 35, 40, ASTH
45, 50, 60, 75, 100
$16 : 10, 15, 20, 25, 30, 35, 40,
45, 50, 60, 75, 100 NLCD
NLCS
47

www. TPCpage.com
www.tpcpneumatics.com




Series ACPW

039-082-ACP-APM 2012.9.7 2:25 PM s]°]x]48 3+ZFQAlgat $

LEEEE e M K]

® ACPW Series
Assembled a tube and a cover in a cocking
way.

@ Double Rod Cylinder
A cylinder with 2 rods at each side.

Notices for products

PART No. of Mounting Bracket

Mounting Bracket Bjele zoliulm)

$6 $10 $16
Foot TC1P006-19 TC1P010-19 TC1P0O16-19
Flange TC1P006-20 TC1P010-20 TC1P0O16-20

PART No. of Auto Switch Mounting Band

; PART No. of auto Switch
Please fully understand the notices prior Bore Size Mounting Band Note
to utilization, and refer to safety notice 6 TC1P006
and common notice. Common use to
#10 TC1P010 all of W5[] types
$16 TC1P0O16

© Warning

| Assembly/Disassembly of Snap Ring |

@ During installation, secure the rod cover and
tighten by applying an appropriate tightening
force to the retaining nut or to the rod cover
body. If the head cover is secured or the
head cover body is tightened, the rod could
rotate, leading to a deviation.

® Tighten the retaining screws to an
appropriate tightening torque within the
range given below.
26 :2.1~2.5Nm, @10 :5.9t0 6.4Nm,
216 :10.8to 11.8Nm

@® To remove and install the snap ring for
the knuckle pin or the clevis pin, use an
appropriate pair of pliers (tool for
installing a C type snap ring). In
particular, use a pair of ultra—mini pliers
for removing and installing the snap
rings on the @10 cylinders.

Standard Type/Double Acting : Double Rod/Series ACPW

Specifications

Action

Double Acting Single Rod

Fluid

Air

Proof Pressure

1.05MPa (150psi)

Max. Operating Pressure

0.7MPa (100psi)

$6

0.156MPa (17psi)

Min. Operating P
in. Operating Pressure 510 316

0.1MPa (9psi)

Ambient and Fluid Temperature

40~140 °F (5 ~ 60%C)

Cushion

Rubber cushion (Standard)

Lubrication

None (Non-Lube)

Piston Speed

50~750 mm/sec

Stroke length Tolerance

+1.0
0

Piston Speed

50~750mm/s

Auto Switch Specifications

: . Reed Switch
Mounting Bore Size T
Band mounted type| $6, $10, 16 W5 type

Mounting Accessories

Mounting Basic Type | Foot Type |Flange Type

Mounting Nut o o o
Standard

Rod End Nut o o o

. Single Knuckle Joint o o o

Option - - -

Double Knuckle Joint(With Pin) o o o
Weight Table of (ozf)
Bore Size (mm) 36 $10 $16
#Basic Weight 27(0.95) 35(1.33) 70(2.40)
Additional Weight for each 15 of Stroke 3(0.11) 6(0.21) 9(0.32)
Mounting Foot Type 14(0.49) 14(0.43) 38(1.34)
Bracket Weight Flange Type 5(0.15) 5(0.15) 13(0.46)

# Including the weights of mounting nut and rod end nut in the reference weight.

# Double clevis type is not included with mounting nut.

48



039-082-ACP-APM 2012.9.7 2:25 PM 3|°]=x]49 gh=L A4} $

LEEEE e M K]

Series ACPW

Construction/Parts List ACP
ACPWB 6 (6] APM
W 4 SN AS
2 | Fer——orgryel{ [RPV1
f X@ ——HF AX
AM2
ACPWB 10, 16
AM
AL
ALX
A8
ADQ
Parts List ﬁg%z
No. Description Material Note No. Description Material Note ﬁjM
@ | Rod Cover Aluminum Alloy | White Alumite ® | Rod packing NBR
@ | Cylinder Tube | Stainless Steel © | Tube gasket NBR ABK
® | Piston Brass @ | Piston gasket NBR
@ | Piston Rod Stainless Steel @ | Packing retainer | Aluminum alloy | White Alumite ACK1
® | Mounting Nut Brass Nickel Plated ® | Bumper Urethane
® | Rod end Nut Rolled Steel Nickel Plated ® | Magnet - NSK
@ | Piston Packing NBR
AG
Standard Type (ACPWB) NGQ
; ® 2-M5x0.8 AGX
ACPWB w 2| e - AS
MM = Port size
ACPWB6 e
Rod Cover = ! : Sl % NP
A F Tl oA ADR
H LG+ Stroke
LT+2 xStroke AMR
2
ACPWB10,16 @ FA 2-M5x0.8 A 2 NDM
o MM NN g = Port size e NN MM
¥
[a) T [a)
@ T by Il __" {“ ________ — __l_\,\\y\ te~ ) ARD
2 S gt ‘
A E| GA GA | E A NST
oB H LG+ Stroke H+Stroke
LT +2xStroke AST
(mm)
Bore size A B © D E FA H MM ND h8 GA NN LG T LT ASTH
$6 5 12 | 14 | 3 8 | 145 | 28 | M3x05 | 6% | 16 | M6x1.0 |685 | 3 [1245
$10 15 | 12 | 14 | 4 8 8 | 28 | M4x07 | 8%, 125 | M8x1.0 | 48 | - | 104 NLCD
$16 15| 8 | 20 | 5 8 8 | 28 | M5x0.8 | 10%,, |12.5 | M10x1.0 | 48 | - | 104
NLCS
49

www. TPCpage.com
www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]50 g+l A} $ ERIEDE

Series ACPW

Foot Type (ACPWL)

ACPWL
ACPWL10,16
i NN E FA  2-M5x0.8 FA E NN MM
Port size /
=~ - o\ o
¢ \ S I I el
) - 3 = I
\\+ J T =
P\ < -
LK A X[y ]| ea aa | YIX| 1 A
LW—I '_l"J LG +Stroke
= sy LT+2xStroke
[°T]F
’ 2-$LC
Mounting hole
(mm)
Bore size | A | D E |FA|H |LC|LH|LA| LK|LL | LM MM GA NN LG | T X | Y |LT
$6 15 | 3 8 [145(28 |45] 9 |1.6]| 24 |16.5] 32 | M3x0.5 | 16 | M6X1.0 |68.5| 3 5 7 1245
$10 15| 4 8 | 8 |28 45| 9 |1.6]|24 |16.5] 32 | M4x0.7 |12.5| M8X1.0 | 48 | - 5 7 1104
$16 15| 56 8 | 8 |28 55|14 (23|33 |25 |42 | M5x0.8 |12.5| M10x1.0| 48 - 6 9 | 104
Flange Type (ACPWF)
ACPWF W R o
MM FT
ACPWF 6 \ =~ Port size
Rod Cover 2 H ;
£ — T <
- L
A T GA
H LG +Stroke
LT+2XStroke
ACPWF10,16 2-M5x0.8
MM NN E FA : FA E NN MM
\ Port size
ot - % o
S B - ‘ S
" B - o< S ET= =835
K 2-$FC
Mounting hole A FT' GA GA .FT A
FM H LG+ Stroke H+Stroke
LT+2xStroke
(mm)
Bore size | A D B FC | FT | FK | FL |FM FA | H MM GA NN LG T LT
$6 15 3 8 |45 (16 |24 |14 |32 |145]| 28 M3x0.5 16 M6x%1.0 68.5| 3 [124.5
$10 15 4 8 |45 |16 | 24 | 14 | 32 8 28 M4x0.7 125 | M8x1.0 48 - 104
316 15 5 8 55123 ] 33 |20 |42 8 28 M5x0.8 125 | M10x1.0 | 48 - | 104




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]51 3=} $ easEl [
Series A CP S

ACP
Standard Type/Single Acting Spring Return, Spring Extended o
Bore Size(mm) : @6, @10, &16 AS
AX
® STAINLESS STEEL BODY
@ HIGH CYCLE LIFE AM2
® BUILT - IN MAGNET
® COMPACT LIGHT DESIGN AM
AL
ALX
Al
ABa
Symbol ﬁg%z
Single Acting/Single Rod Al
« Spring Return « Spring Extended AJM
ACK1
NSK
How to Order o
! AGX
GX
(1] Air Cylinder [6] Port Location on Head Cover NP
Built-in magnet, Rubber cushions
are standard Symbo Borel 46 | 410, ¢16
. R - in-line ADR
Mount — .
B oggr::j‘g—d type Blank |in-line 90
L : Axial foot type AMR
F : Rod side flange type Special Options
D : Double clevis type Blank : Standard
(Except for ¢ 6) XC16 : Copper-free NDM
Bore Size(mm) Auto switch
6:46 (Band mounted type) ARD
10: 410 W5 : Reed Switch, 0.5m Lead Wire
16 : ¢16 W5L : Reed Switch, 3m Lead Wire NST
(4] Stroke (mm) [9] Number of Auto Switches
$6: 15, 30, 45, 60 Blank : 2pcs AST
$10 : 15, 30, 45, 60 S : 1 pc
$16 : 15, 30, 45, 60 N : N pcs
ASTH
Action
S : Single acting spring return
T : Single acting spring extended NLCD
(Not available for ¢ 6)
NLCS
51

www. TPCpage.com
www.tpcpneumatics.com



039-082-ACP-APM 2012.9.7 2:25 PM slo]x]52 3+ 1A} $ ERIEDE

Series ACPS

PART No. of Mounting Bracket

Mounting Bracket Bore Size
$6 $10 416
Foot TC1P006-19 TC1P010-19 TC1P016-19
Flange TC1P006-20 TC1P010-20 TC1P016-20
#T Mounting - TC1P010-42B TC1P016-42B

#T Mounting : Double clevis type(D)

PART No. of Auto Switch Mounting Band

Bore Size PART ,\Nﬂgug{iﬁ;tgai\évitch Note
$6 TC1P0O06
$10 TC1PO10 W5
$16 TC1P0O16

Standard Type/Single Acting : Single Rod/Series ACPS

Specifications

Action Spring Return ‘ Spring Extended
Fluid Air
Proof Pressure 1.06MPa(149Psi)
Max. Operating Pressure 0.7MPa(99Psi)
Min. Operating Pressure 36 0.2MPa(28Psi) | 0.25MPa(36Psi)
$10, $16 0.15MPa(21Psi)
Ambient and Fluid Temperature 40~140 ° F (5~60T)
Cushion Rubber cushion (Standard)
Lubrication None (Non-Lube)
Piston Speed 50~750 mm/sec, (2~29.5 in/sec)
Mounting Bore Size ReGicoirivr:;:h
Band Mounted Type $6, $10, $16 W5

Spring Retracting Force kgf(Ibf)

Bore Size Extended Position| Retracted Postion
$6 0.38(0.84) 0.18(0.40)
$10 0.70(1.54) 0.36(0.79)
$16 1.45(3.20) | 0.70(1.54)
Mounting Basic Type  |Axial Foot Type[Rod Side Fiange Type| Double Clevis Type
Mounting Nut o o o -
Standard |Rod end Nut o o o o
Clevis Pin - - - o
Single Knuckle Joint o o o o
Option | Double Knuckle Joint(With Pin) o o o o
T Mounting - - - o

“& o



039-082-ACP-APM 2012.9.7 2:25 PM 3|°]=]53 gt A4 $

LEEEE e M K]

Series ACPS

Construction/Parts List ACP
Single Acting/Spring Extended APM
ACPLII-0IT

AS
(7] e 06 Oo
&- AX
- } il - - L AM2
3 | /1
‘ \\ AM
(9] ®©O 6 0 © AL
ALX
Al
ABa
A802
= /}'\/7\,)« e TS ﬁjM
T T
/1 ABK
® 6 © 6
ACK1
ACPS6 Rod Cover, Piston
NSK
Single Acting/Spring Return AG
ACPLII - [IS
NGQ
o (6] O © 6 0GB O
\‘ \N; /3 AGX
GX
— - ! - (’//i/lm NP
e HH] A
dobb °°
ACPS6 Head Cover, Piston AMR

Parts List NDM
No. | Description Material Note No. Description Material Note ARD
(1) Rod Cover Aluminum Alloy White Alumite © | Rod packing NBR -

@ | Head Cover Aluminum Alloy White Alumite @ | Tube gasket NBR - NST

® | Cylinder Tube | Stainless Steel - @ | Piston gasket NBR -

O | Piston Brass - ® | Packing retainer Aluminum Alloy White Alumite AST

(5) Piston Rod Stainless Steel - @® | Bumper Urethane -

(6) Mounting Nut Brass Nickel Plated ® | Return spring Piano Wire - ASTH

(7] Rod end Nut Rolled Steel Nickel Plated ® | Spring seat Brass -

® | Piston Packing NBR - @ | Magnet - - NLCD
Standard Type/Single Acting : Single Rod/Series ACPSB NLC S

53

www. TPCpage.com

www.tpcpneumatics.com



039-082-ACP-APM 2012.9.7 2:25 PM slo]x]54 3+l a} $ ERIEDE

Series ACPS

ACPB ‘Bore SizeH Stroke ‘ @ ‘ Port Location on Head Cover ‘
o,
MM NN g M5x0.8
= Port size \ =i Port size
fa M5x0.8
o X 1 I
AN C_ I
Il i
A E_LGA GB Port location on Head cover
H LG + stroke in-line : ACPSB6
LT +stroke Perpendicular : ACPSB10, 16
(mm)
LG LT

Bore | A |[B|C|D|E|FB/H| MM |GA|GB| NDh8| NN
size 5~15 ST [16~30 ST|31~45 ST| 46~60 ST| 5~15 ST | 16~30 ST| 31~45 ST|46~60 ST

$6 |15 |8 |9 |3 |8 |- |28 |M3x05 | 3| 7 | 6%,,|M6x10| 395 | 485 | 525 665 | 6756 76.5 805 | 945
$10 |15 [12 |14 |4 |8 |5 [28 | M4X0.7 |55|9.5 8?0'022 M8x1.0| 4656 54 66 78 745 82 94 106

$16 |15 [18 |20 |5 |8 |6 |28 | M6x08 |55|956 10.00022 M10x1.0| 46 54.5 66.5 785 74 825 945 106.5
Spring Return/Axial Foot Type(ACPL)
ACPL ‘Bore SizeH Stroke ‘ @ ‘ Port Location on Head Cover‘
MM NN B M5x08 FB
) \ Port size QO M5x0.8
[a] B
/()\ | : = 4 -I§ Port size
NZAEE o IS
! L I
LK A" N[ v |ea GB B Port location on Head Cover
LM H LG+stoke | in-line : ACPSL6
[T+stoke Perpendicular : ACPSL10, 16
s
) 7-3LC
Mounting Hole
(mm)
LG LT
Bore 1A |B|C|D|E|FB|H|LC|LH|LA|LK| LM MM |GAlGB| NN | X]| Y

size 5~16 ST |16~30 ST |31~45 ST |46~60 ST| 5~15 ST |16~30 ST 31~45 ST| 46~60 ST

96 |16/8 (9|3 |8 | -|28|45/9 |16|24165/32| M3x05 | 3 | 7| M6x10 | 5|7 | 395|485 | 525 | 665 | 675 | 765 | 805 | 945
$10 |15|12|14|4 |8 | 5|28 (45| 9 (16|24 (165 32| M4x0.7 |55(95| M8x10 |5 | 7| 465 | 54 66 78 | 745 | 82 9 106
$16 |15|18|20| 5 |8 | 5|28 |55(14|23|33| 25|42| M6x08 |55|95  M10x1.0 (6 | 9| 46 | 545 | 665 | 785 | 74 | 825 | 945 | 1065




039-082-ACP-APM 2012.9.7 2:25 PM 3|°]z]55 gh=Ld4 a4 $

LEEEE e M K]

Series ACPS

Spring Return/Rod Side Flange Type(ACPF) ACH
ACPF ‘Bore SizeH Stroke‘ S ‘Port Location on Head Cover ‘ APM
AS
AX
NN E M5x0.8  FB
MM
Port size 310 M5x0.8 AM2
o = f ——) /Portsize
Nz P = / - AM
AN L s
2-$FC ;
B Port location on Head Cover
Fe Vouning A FeA G8 in-line : ACPSF6 ﬁb(
FM hole H LG +stroke Perpendicular : ACPSF10, 16
LT+stroke A
ABa
A82
ADQ2
(mm) ﬁjM
Bore e Ly
: A|B|C|D|E|FC|FT|FK|FL|FM|FB|H MM | GA|GB NN
Size B5~15ST|16~30ST|31~45ST|46~60ST|5~15ST [16~30ST [31~45ST |46~60ST ABK
$6 |15/ 8|9 |3 |8 |45(16(24|14]32| - |28 M3x05 | 3| 7| M6x10 | 395 |485 | 525 | 665 | 675 | 765 | 805 | 945
$10 | 15|12|14|4 |8 [45|16|24|14|32| 5 (28| M4x07 |55(95| M8x10 465 | b4 66 78 | 745 | 82 94 106 ACK1
$16 | 15| 18|20 8 |55]23|33]20(42| 5 (28| Mox08 | b5/ 95| M10x10 | 46 | 545 | 665 | 785 | 74 | 825 | 945 | 1065
NSK
Spring Return/Double Clevis Type(ACPD) AG
ACPD ‘Bore SizeH Stroke‘ S ‘ Port location on headcover‘ NGQ
AGX
GX
NP
H LG +stroke QR o0m
! CDrs o
IGA  Port size ck | : _Hg. - CA 0.2 ADR
NN FB Clevis Pin CBo
o W\ M5x0.8 ($cdas 20)
Y4 a 1
] as : - AR
ad : S
OB . NDM
LT +stroke
ARD
NST
(mm) AST
- LG LT
Bs%f A|B|C|CA(CB|q) D|FB|GAIGBIH| MM |Q|R|5~ |16~ |31~ |46~ | B~ |16~ |31~ |46~ ASTH
15ST| 30ST | 45ST | 60ST | 15ST| 30ST | 45ST | 60ST
$10 151214 112|32|33| 4 |18 |55(225(28 | M4x07 | 8|5 | 465 | 54 | 66 78 | 825 90 | 102 | 114 NLCD
$16 15|18 /20|18 (65| 5 | 5 |23|55/|275(28 | M5x08 |10| 8| 46 | 545 | 665 | 785 | 84 | 925 | 1045|1165
NLCS
55

www. TPCpage.com

www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]56 g+ A} $ easEl [

Series ACPS

Spring Extended/Standard Type (ACPSB)
ACPB ‘Stroke| T

MM NN 2 A M5x0.8
o -
= Port size M5x0.8
- ) .
ACPB6 - [IT ¥ -
V e T
f& ¥ H _
A E |Tl GA GB
LB H+stroke LG +stroke
LT+ 2 Xstroke
[ee]
NN <y M5x0.8
B 10-01T o MM % FA Port size
ACP 16 ¥ . \ .../
el tR¥:
%K _ e o e e AN AN I vl
A E | GA GB
0B H+stroke LG +stroke
"TLT+2xstroke

(mm)

LG LT
Bore
size e e e L e = s 5~168T | 6~30ST | 31~45ST| 46~60ST | 5~15ST| 6~30ST | 31~45ST | 46~60 ST

66 |15/12 |14 |3 | 8 14528 | M3x05| 16 | 3 |6 Qo 3 | MEX10| 515 | 605 | 645 | 785 | 795 | 885 | 925 | 1065
610 [15(12[14]4 | 8|5 | 28| Max07[125/55 |8 Senl - [MBx10| 495 | 57 69 8 | 775 | 97 | 109
$16 | 15(18[20|5 | 8 |5 |28 M5x08|125 55| 10 gopp| - |MI0x10| 49 | 575 | 695 | 815 | 77 | 5 | 975 | 1095

o

Spring Extended/Axial Foot Type (ACPL)
ACPL ‘Stroke | T

MM NN g Fa  M5x08
Port si
i \ ort size
@\\ - =t <
ACPL6 - [T = 5[ <4 -
K A X[y [T NA Az
Y H+stroke LG +stroke
LT +2 X stroke
MM NN E M5x%0.8 <
ACPB 12 -oT - - A/ Portsie 8
\ f - T i
/(;)\ | TH I '
—
|K‘/ | 5 l < b |
1 = " A Tﬁ; NA OB
« o™ 2-$1LC a =
‘ H-+stroke LG +stroke
I G © Mounting hole LT+2 Xstroke
>

(mm)

LG LT
Bore | | B|C|D|E|GA|H|LC|LH| LA|LK|LL |M| MM |NA/NB| T| X |Y| NN
S5 5~168T| 16~30ST 31~45ST] 46~60ST| b~ 16ST (16~30ST|31~45ST|46~60ST

$6 | 15[12|14|3 14528 |45| 9 |16 24(165/32 |M3x05/16 | 3 | 3| b M6x10| 51.5| 60.5 | 64.5 | 785 | 795|835 | 925 | 106.5
$10 |15\ 12(14| 4|8 |8 |28|45|9 | 162416532 [M4x0.7(125/65| - | 5| 7 |M8x10| 495 | 57 69 81 | 715 | 85 97 | 109
$16 | 15| 18|20 | 5 |8 | 8 |28|55|14 (23|33 |2 |42 |M5x08(12555 |- | 6 | 9MI10x10| 49 | 575 | 695 | 815 | 77 | 855 | 975 | 1095

o
-

~




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]57 3+ 1A} $ ERIEDE

Series ACPS
Spring Extended/Rod Side Flange Type (ACPF) ACP

ACPF Stoke T APM
NN EGA - MBx0.8
MM LFT Port size AS
6 : o a
' el T 4 >
O = ee—= S L ~ AX
o 2-41C A 7| na | NB AM2
Mounting hole H+stroke LG +stroke
FM Rod cover Head cover
LT+2 Xstroke Side Side
AM
MM NN E GA M5x0.8 AL
¢10, 16 ) Port size h() ALX
r [a) \ ;
| o T ]
1 ﬁ% ayl . o= 5 ez e e | INK ALY - ﬁSQ
Q ﬂ < T
' 2-8LC AQ2
K : A FT]|_NA 5 B A802
=Y Mounting hole H+stroke LG +stroke
LT +2Xstroke AJ
AM
(mm) ABK
Bore LS L
¢ A|B|C|D|E|LC|FT|FK|FL|FM|GAl H| MM |NANB T| NN
Size 5~15ST [16~30ST | 31~45ST] 46~60ST| 5~15ST |16~30ST| 31~45ST| 46~60ST ACK1
$6 |15 (12| 14| 3 | 8 |45|16|24 |14 |32/145| 28| M3x05 |16 | 3| 3|M6%10| 515|605 | 645 | 785 | 795 | 885 | 925 | 1065
$10 |15|12| 14| 4 | 8 |45|16|2414|32| 8 | 28| M4x0.7 125/65| - |M8x1.0| 495 | 57 69 81 775 | 85 97 109 NSK
$16 |15]18]20| 5 | 8 |65(23|33|20|42| 8 |28 |M5x0.8 12555 - |M10x10| 49 | 575 | 695 | 8156 | 77 | 85 | 975 |109.5 —
AG
Spring Extended/Double Clevis Type (ACPD) NGQ
AGX
GX
ACPD (Stroke| T NP
LG +stroke Q.R #CDro 9% cA
T
i GB Clevis Pin +0.2
MM I_FA, Port size ($Cas 12 ggg) CB+01 ADR
& M5x0.8
R a T\
ﬂ *‘ - |l ‘ i 1 -+ AMR
) = - i
g - ——
A
5 H +stroke GA NDM
LT+ 2 xstroke
ARD
NST
AST
(mm)
LG LT
Efs‘i)zfee Al B|C |CA|CB (gg) D | FB|GA|GB| H | MM |Q | R |5~ |16~ |31~ 46~ |B~ |16~ | 31~ | 46~ ASTH
15ST | 30ST | 46ST| 60ST | 16ST | 30ST| 45ST| 60ST
$10 |15 | 12 |14 |12 |32 |33 |4 | 8 |125|225 |28 |wax07|8 |5 | B35 | 61 | 73 | 85 |895 | 97 | 109 | 121 NLCD
#16 |15 | 18 |20 |18 |65 | 5 | & 8 |126 |275 | 28 |MBx08(10 | 8 53 | 615|735 | 855 | 91 | 995 |1115|1235
NLCS
57

www. TPCpage.com
www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]58 a1 A} $ ERIEDE

Reed Switch Type / Band Mounted Type Series W5

Specifications W5 Type(With indicator lamp)

Auto Switch Model W5
/ Application Relay, Sequence Control
Load Voltage DC24V AC110V
P / Max. Load Current/Range of Load Current 5~40mA 5~20mA
P . . Protection Circuit for Contact Breaker Point None
A V Internal Voltage Drop 2.4V or less
Indicator Lamp ON:Red light emitting diode

« Leakage Current — None

» Response Time — 1.2ms

» Lead Wire — Qil proof vinyl, ¢3.4 0.2mi, 2 Wire(red, black),
0.5m(18in)

* Impact Resistance— 30G

* Insulation Resistance — 50M & or more under the test voltage 500VDC
(Between case and cable)

« Withstand Voltage — 1500VAC 1min (between case and cable)

« Ambient Temperature — 14~140°F (-10~60¢C)

« Protection Structure — IEC spec IP67, Water-proof (JISC0920), oil-proof.

s If 118inch lead wire is required, L is put at the end of numbers.
Example : W5L

Auto Switch/Internal Circuit § Auto Switch Dimensions inch(mm)
©
< 1.02(26) 0.08(2)
Q1 [0.35(9)
o
& -
b —
@ )
o
Indicator Lamp
0.17(4.3)
o,
[ - n—
a5
c>' o
0.14(¢ 3.5) L l_IOperating Range(See List Below)
0.37(9.5)

Most Sensitive Position

Operating Range( ! Dimension)

Bore size
$6 $10 416
ACP 6 7 7

Series




039-082-ACP-APM 2012.9.7 2:25 PM 3|°]z]59 gt A4 $

Series UA CP

LEEEE e M K]

ACP
Standard Type/Double Acting : Single Rod o
Bore Sizemm(inch) : @6(1/4 Nom.), @10(3/8 Nom.), &16(5/8 Nom.) AS
AX
® STAINLESS STEEL CYLINDER TUBE
® HIGH CYCLE LIFE AM2
< ® LOW BREAKAWAY
® BUMPERS STANDARD AM
® BUILT-IN MAGNET AL
@ COMPACT LIGHT DESIGN ALX
A8
ADQ
r Symbol ﬁg%z
Double Acting/Single Rod
AJ
ABK
ACK1
NSK
How to Order AG
UACP 2 ?0050 ’% ?2 NGQ
AGX
GX
[1] Air cylinder (5] Port Location on Head Cover ;
Built-in magnet, Rubber cushion PART NO. of Mountlng Bracket NP
are standard. Symbo S‘Ze 6 | 10,416
R - in-line Mounting Bore Size mm(inch) ADR
Mounting Blank |in-line|  90° bracket $6 (1/4 Nom.) | $10 (3/8 Nom.)| #16 (5/8 Nom.)
L e e Foot TC1P006-19| TCTPO10-19 | TC1PO16-19 [0
F : Rod side flange type 6] Special Options Flange TC1P006-20 | TC1P0O10-20 | TC1P016-20
D : Double clevis type Blank - Standard #Double Clevis - TC1P010-42B | TC1P016-428
(Except for $6) XC16 : Copper-free NDM
#T Mounting : Double Clevis Type(D)
Bore Size mm(inch) Auto Switch
6: 66 (1/4 Nom.) (Band mounted type) ARD
10 : 410 (3/8 Nom.) W5 : Reed switch, 0.5m Lead Wire PART No of Auto SWltch Mounﬂng Band
16 : ¢16 (5/8 Nom.) WS5L : Reed Switch, 3m Lead Wire NST
[4] Stroke/Hundredth of an Inch Number of Auto Switches Bore size PARh’gﬂht‘i’;?gg’ngWimh Note
$6 0,050 0,100 0.150 0.200 Blank : 2pcs AST
$10: 0,050 0,100 0.150 0.200 0.300 S :lpe #6 (1/4 Nom.) TC1P006 . .
0.400 0.500 0.600 N : N pes 410 (3/8 Nom.) TC1PO10 ommon use to
$16 : 0050 0100 0.150 0.200 0.300 all of W5 types
0.400 0.500 0.600 0.700 0.800 #16 (5/8 Nom.) TC1PO16 ASTH
Standard Type/Single Acting / Single Rod/Series UACPS
NLCD
NLCS
59

www. TPCpage.com
www.tpcpneumatics.com



039-082-ACP-APM 2012.9.7 2:25 PM slo]x]60 3+ Q13 a} $ ERIEDE

Series UACP

Specifications

Action Double Acting Single Rod
Fluid Air
Proof Pressure 1.05 MPa(150 Psi)
Max. Operating Pressure 0.7 MPa(100 Psi)
Min. Operating Pressure $6 0.12 MPa(17 Psi)

$10, $16 0.06 MPa(9 Psi)
Ambient and Fluid Temperature 5~60C(40~140°F)
Cushion Rubber Cushion (Standard)
Lubrication None (Non-Lube)
Piston Speed 50~750 mm/s, (2~29.5 in/s)

Auto Switch Specifications

Mounting Bore Size (2~29.5 in/s) Reed Switch
Grommet
Band mounted Type | #6(1/4 Nom.), ¢10(3/8 Nom.), ¢ 16(5/8 Nom.) W5 Type

Mounting Accessories

Mounting Basic type| Axial foot type|Rod side flange type| Double clevis type
Mounting nut o ] ] -
Standard|Rod end nut - - - -
Rear Pprt Location on Heaq Coyer Sl pin _ _ _ °
F’c—?rpendlcullar to thg cyllncfer axis or |rf—||ne Single knuckle joint ° ° ° °
with the cylinder axis locations are available : ———
) Option | Double knuckle joint(ith pin) o o o o
for basic type. .
(¢ 6 is not available in perpendicular type) T Mounting — — — °

Weight Table gf(ozf)

Bore size mm(Inch) $6(1/4 Nom.) | $10(3/8 Nom.)| ¢ 16(3/8 Nom.)
% Basic Weight 15(0.52) 24(0.84) 54(1.94)
Additional Weight for each '/2"of stroke 2(0.08) 4(0.14) 6.5(0.23)
Mounting | Foot type 7(0.25) 7(0.25) 19(0.67)
bracket | Rod side flange type 5(0.18) 5(0.18) 13(0.45)
In-line 90° Weight [ Double clevis type(with pin) - 2(0.08) 8(0.28)

#Including the weights of mounting nut and rod end nut in the reference weight.
s Doulble clevis type is not included with mounting nut.

60



039-082-ACP-APM 2012.9.7 2:25 PM 3s|°]zx]61 gH=L4dd 4 $

LEEEE e M K]

Series UACP
Construction/Parts List

ACP

APM

AS

UACPB 6 AX

®©©® 6 e o0

4 AM2

Ny 2 w

e S s AL

ALX
A
Ao
AQ2
A802
AJ
AM
ABK

ACK1

UACPB 10, 16
NSK

NGQ

''''' 3 - T B — B B B N = AGX

c/n NP

ADR
AMR
NDM
Parts List ARD
No. | Description Material Note No. Description Material Note NST
©® | Rod cover Aluminum Alloy | White Alumite ®© | Rod Packing NBR -
@ | Head cover Aluminum Alloy | White Alumite @ | Tube Gasket NBR - AST
® | Cylinder tube Stainless Steel - @ | Piston Gasket NBR -
(4) Piston Brass - @® | Packing Retainer Aluminum Alloy | White Alumite ASTH
(5) Piston rod Stainless Steel - @® | Bumper Urethane -
(6) Mounting nut Brass Nickel Plated @ | Magnet - - NLCD
® | Piston packing NBR -
NLCS
61

www. TPCpage.com

www.tpcpneumatics.com



Series UACP

039-082-ACP-APM 2012.9.7 2:25 PM 3|°]z]62 gh=L4 A4 $

LEEEE e M K]

Standard Type (UACPB)

UACPB ‘Bore SizeH Stroke H Port Location on Head Cover‘
NN _
UACPB 6 MM A 10-32 UNF
o \ 10-32 UNF e
R NQ' /
[a]
5 2T T
GA GB
oB A ET - 0031
A LG+Stroke
LT+ Stroke
NN 10-32UNF 10-32UNF
UACPB 10, 16 MM FB
10-32UNF
S. (! %' (!
A E | GA GB
H l LG+ Stroke
LT+Stroke
(inch)
Bore size (inch) A B C D E |FA | FB | H MM GA | GB NN LG T LT
$6(1/4 Nom.) |0.59|0.47{0.55/0.12|0.31/0.57| — |1.10| 5-40UNC |0.63 |0.28 |1/4-28UNF |1.93 |0.12 |3.03
$10(3/8 Nom.)|0.59(0.47|0.55|0.16/0.31/0.31/0.20(1.10| 6-40 UNF |0.49 |0.37 |5/16-24 UNF |1.77 = 2.87
$16(5/8 Nom.)|0.59|0.71/0.79|0.20|0.31{0.310.20|1.10| 10-32UNF |0.49 |0.37 |3/8-24 UNF |1.77 - 2.87
Axial Foot Type (UACPL)
UACPL ‘Bore SizeH Stroke H Port Location on Head Cover ‘
UACPL 6 MM NN E_FA 10-32UNF N
_\ 10-32UNF o o2
® )
[a)
D B — O A 7 (] i
- 5 - | . —
<
- T
L A o o8 " .
M < H LG+ Stroke -
LT +Strok
$ CR\ i +Stroke Roosligzver Hea;ji(;:eover
-~
2-$LC
Mounting Hole
UACPL 10, 16 MM NN e FA TOSZONT g, 1032UNF
_\ \ 2 10-32UNF
s =
TN T o
N2 Q
3
LK A Y_|_GA GB o8B
LM H LG+ Stroke
LT+ Stroke
(inch)
Bore size (inch) Al B|C|D| E|FAFB| H |LC|LH|LA|LK|[LL[LM| MM |GA|GB| NN |[LG| T | X | Y |LT
$6(1/4 Nom.) [0.59 0.470.55/0.12|0.31(0.567| - |1.10/0.18|0.35/0.06/0.95|0.65|1.26|5-40 UNF | 0.63|0.28 | /48 UNF [1.93]0.12|0.20|0.28 |3.03
$10(3/8 Nom.)|0.59(0.47/0.55(0.16|0.31/0.57|0.20|1.10(0.18]0.35|0.06|0.95/0.65| 1.26|6-40 UNF |0.49(0.37 [5/16-24UNF| 1.77| - 10.20(0.28|2.87
$16(5/8Nom.) [0.59(0.71/0.79(0.20|0.31/0.570.20|1.10(0.22|0.55|0.09|1.30/0.98|1.65|10-32 UNF |0.49(0.37 3/8-24 UNF{1.77| - |0.24|0.35|2.87




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]63 =LAy} $ LSS e MR K]

Series UACP
Rod Side Flange Type (UACPF) ACP

UACPF ‘Bore size H Stroke H Port Location on Head Cover ‘ APM
UACPF 6 ”
E__FA g
MM NN = 10-32UNF o |
M5x0.8 O S
JNES) AX
N fan) y T=_JH
\IV JJ N [ -
AM2
FK \2-8FC
FM A Tl GA GB| 0B
H LG+ Stroke
LT +Stroke Rod cover 0¢0.31 AM
Side Head cover
Side
UACPF 10, 16 e e T o -

& 10-32UNF
o[}« N\ ( ABa

H D) i
Y\ T
kJ "$FC Port location on head cover: A82
in-line, UACPF 6
',::I:/l A FTj| GA —(13— =8 Perpendicular:UACPF 10, 16 A 02
H LG+ Stroke AJ
LT+ Stroke
(inch) AM
Bore size (inch) A|B|C|D|E |FC|FT|FK|FL|FM |FA|FB | H MM GA | GB NN LG| T | LT
$6(1/4Nom.) |0.59 |0.47 [0.55|0.12 10.31|0.18| 0.06 |0.95 |0.55 [1.26 |0.57 | - |1.10|5-40 UNC |0.63 |0.28 | 1/4-28 UNF| 1.93 | 0.12| 3.03 ABK
$10(3/8 Nom.) {059 |0.47 [0.55|0.16 | 0.31 |0.18| 0.06 [0.95 |0.55 [1.26 |0.31 | 0.2 | 1.10| 6-40 UNF |0.49 [0.37 |5/1624UNF| 1.77 | - |2.87
$16(5/8Nom.) [0.59 [0.7110.79 10.20 |0.31 10.22| 0.09 | 1.30 | 0.79 | 1.65 |0.31 | 0.2 | 1.10|10-32 UNF|0.49 | 0.37 | 3/8-24 UNF| 1.77| - |2.87 ACK1
NSK

Double Clevis Type (UACPD) G }
UACPD

NGQ
UACPD 10, 16
H LG+Stroke QR AGX
FA  10-32UNF GB #CDm 5 CA GX
NN 1 = Clevis pin CBIg00:
($Cdas) 900, NP
e //\ - Vaim
— S —— <§““ ADR
1] 4-$TA s AMR
A GA
NDM
LA
e ARD
LT+ Stroke _|
Lt Siake T Mounting Related dimensions  (inch) NST
Bore size (inch)] TA | TB | TC | TD | TE | TF
$10(3/8 Nom.)|0.18]1.14/1.58|1.26|0.87/0.47 AST
$16(5/8 Nom.)|0.22/1.38/1.89| 1.5 |1.10|0.63
(inch) ASTH
Boresize (inch) | A | B | C | CD(ed) |CB|CA| D | FA| FB| H MM GA | GB NN R ILG| Q |LT| LK
$10(3/8 Nom.)| 0.59| 0.47| 0.55| 0.13 0.13/0.4710.16] 0.32| 0.71| 1.10| 6-40 UNF |0.49 | 0.89 |5/16-24 UNF| 0.20 | 1.77]0.31 | 3.09| 3.62 NLCD
$16(5/8 Nom.)| 0.59(0.71]0.79| 0.20 0.26/0.71]0.20| 0.32( 0.91| 1.10|10-32 UNF | 0.49 | 1.08 | 3/8-24 UNF| 0.31| 1.77|0.39 | 3.27| 3.82
NLCS
63

www. TPCpage.com
www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]64 =LA a} $ ERIEDE

Series UACP

Accessaries/Parts List inch
Single Knuckle Joint Knuckle Pin

= 8 - 8
mt ! tm o L il o
3 8
. o,
\! X 4 ({1} ©
D 21 | I
x _
W6 08
Material:Rolled steel Material:Stainless steel Material:Stainless steel
PARTNo [Bore| At |[Li MM | ND*™ INX| Rr | Wi PARTNo | Bore|pdg®@i g | L | 7 |mlt | Clib PARTNo | Bore Ddg@ g | L | 7 |m|t | Clib
UACPOI-7 | #10 (81312109 6<0UNF | 33 *3%1| 305 | 1109 |89 ACPOIRBA | 610 |330 551 33| 305 | 124122127 Ol APOILB | #10 330355 33| 36| 1626122|178] (el
UACPOIEHT | $16 | 813 2489 10:32 UNE| B0B*3%1) 6% | 13 391 ACPOIG2A | #16 (508 322 508| 483 | 2061 (1829154 (Tgelp APOIG28 | #16 |5.083% |508] 483 |2159| 122|182 (Tedle

Double Knuckle Joint Rod End Nut

- d
/ d
0.28 L {%
$NDus | A | MM (A o 0} o __%
S A\ t
~T: A J
A =
X 4 i o A J
=t U O
W1~8003
Material:Rolled steel Material:Brass Material:Steel
PART No. Bore| Ai|Li [ MM | ND' [NX W4 Ri PARTNo. | Bore | A | C d N PART No. [Boe | A | C d J

UACPOIO8 410 |0.3200.93 540 UNF |0.1373%1013)0.39 .32 UACP 006-13A $6 | 044 0.50 | 1/428UNF| 0.16 UACP006-138 | #6 | 0.31 | 0.11] 540 UNC |0.11
UACPO1E-18 416 | 0.43)0.83|10:32 UNF{0.20 704/ 013)0.39 047 UACP 010-13A $10 | 0.50 | 0.58 [5/16-24UNF| 0.19 UACP010-13B | ¢0 | 0.31 | 0.36| 6-40 UNF |0.11
UACP 016-13A $16 | 0.56 0.65 |3824UNF| 0.23 UACPO16-13B | ¢16 | 0.38 | 0.43] 10-32 UNF | 0.13




039-082-ACP-APM 2012.9.7 2:25 PM sile]x]65 Q)34 $
Series UACP W

LEEEE e M K]

ACP
Standard Type/Double Acting : Double Rod o
Bore Sizemm(inch) : @6(1/4" Nom.), @10(3/8" Nom.), @16(5/8 " Nom.) AS
AX
® STAINLESS STEEL BODY FOR HIGH
CYCLE LIFE & LOW BREAKAWAY AM2
® BUMPERS STANDARD
® EASY MOUNTING AM
® LOW BREAKAWAY AL
® LIGHT COMPACT DESIGN ALX
AS
ADQ
AQ2
Symbol A802
Double Acting/Double Rod ﬁjM
| | ABK
\ |
] ACK1
NSK
How to Order o
NGQ
UACPW (0100)( )-(w5) e
1] o)
NP
[1] Air Cylinder [5] Special Option ADR
Built-in magnet, Rubber cushions Blank : Standard
are standard XC16 : Copper-free
. ) AMR
Mounting [6] Auto Switch
B : Standard type (Band mounted type)
L : Axial foot type W5 : Reed Switch, 0.5m Lead Wire NDM
F : Rod side flange type # WL : Reed Switch, 3m Lead Wire
Bore Size/mm(inch) Number of Auto Switches ARD
6 : $6(1/4 Nom.) Blank : 2 pcs
10 : $10(3/8 Nom.) s 1
16 : $16(5/8 Ngm.) N : Ni)ccs NST
(4] Stroke (mm) AST
6:5,10, 15, 20
10 : 5, 10, 15, 20
16 : 5, 10, 15, 20, 30, 40 ASTH
NLCD
NLCS
65

www. TPCpage.com
www.tpcpneumatics.com



039-082-ACP-APM 2012.9.7 2:25 PM slo]x]66 a1 a} $ easEl [

Series UACPW

PART No. of Mounting Bracket

) Bore size mm(inch)
Mounting Bracket
6(1/4 Nom.) 10(3/8 Nom.) 16(5/8 Nom.)
Foot TC1P006-19 TC1P0O10-19 TC1P016-19
Flange TC1P006-20 TC1P010-20 TC1P016-20

PART No. of Auto Switch Mounting Band

Bore Size (inch) PART N%O%fn%%tg g;\ﬂg:h Note
6(1/4 Nom.) TC1P006
Common use to
10(3/8 Nom.) TC1PO10 all of W5 types
16(5/8 Nom.) TC1PO16

Standard Type/Double Acting: Double Rod/Series UACPW

Specifications

Action Double Acting Single Rod
Fluid Air
Proof Pressure 1.056MPa(150 Psi)
Max. Operating Pressure 0.70MPa(100 Psi)
$6(0.24) 0.15MPa(17 Psi)
Min. Operating Pressure [550-0 a08 0.1MPa(8.5 Psi)
Ambient and Fluid Temperature 40~140°F (5T ~ 60TC)
Cushion Rubber Cushion (Standard)
Lubrication None (Non-Lube)
Piston Speed 50~750 mm/sec, (2~29.5 in/sec)
. o Reed Switch
Mounting Bore Size(inch) EroTe
Band Mounted type | #6(1/4Nom.), $10(3/8Nom.), $16(5/8 Nom.) W5

Mounting and Accessories

Mounting Basic type | Foot type |Flange type

Mounting nut o o o
Standard

Rod end nut - - -

. Single knuckle joint o o o

Option — - -

Double knuckle joint(with pin) o o o
Weight Table gf(02)
Bore Size mm(inch) $6(1/4 Nom.)| ¢ 10(1/4 Nom.)| $ 16(5/8 Nom.)
#Basic Weight 27(0.95) 35(1.33) 70(2.40)
Additional Weight for each 1/2” of stroke 3(0.08) 6(0.17) 9(0.26)
Mounting Foot type 14(0.49) 14(0.49) 38(1.34)
Bracket Weight Flange type 5(0.15) 5(0.15) 13(0.46)

# Including the weights of mounting nut and rod end nut.

%



039-082-ACP-APM 2012.9.7 2:25 PM slo]x]67 3+ 1A} $ easEl [

Series UACPW
Construction/Parts List ACP

APM
UACPWB 6
AS
I‘\I)\\‘Qll\k\\l— ****** ‘ll\\\)'\l) -
: S e f=53 AX
¥ AM2
AM
UACPWB 10, 16 AL
ALX
A8
ADQ
A82
ADQ2
A
Parts List
ABK
No. Description Material Note No. Description Material Note
@ | Rod Cover Aluminum Alloy | White Alumite 0 | Rod Packing NBR ACK1
@ | Cylinder Tube | Stainless Steel © | Tube Gasket NBR
® | Piston Brass @ | Piston Gasket NBR NSK
@ | Piston Rod Stainless Steel @ | Packing Retainer| Aluminum alloy =
® | Mounting Nut Brass Nickel Plated ® | Bumper Urethane AG
@ | Piston Packing NBR ® | Magnet -
NGQ

Standard Type (UACPWB) &

UACPWB (Bore Size) v NN FA 10-32UNF

NP
UACPWB6 K o
Rod Cover - 1 I 2 I % ADR
A E |T| GA
H LG+Stroke AMR
LT +2xStroke
NDM
UACPWB10,16 " NN _FA 1082 UNF A NN MM
S, /7 ARD
o T [a)
B A A S
& I I/\l Tl NST
A E GA GA E A
oB o LG +Stroke H+Stroke AST
LT+2xStroke
(inch)
Boeszelnch) | A | B T D | E | FA | H MM GA NN G| T |LT ASTH
$6(1/4Nom,) | 0.59 | 0.47 | 055 | 0.12 | 0.31 | 057 | 1.10 | 5-40UNC | 0.63 | 1/4-28 UNF | 2.70 | 0.12 | 4.90
$103/8Nom) | 0.59 | 0.47 | 0.55 | 0.16 | 0.31 | 0.32 | 1.10 | 6-40UNF | 0.49 | 5/16-24UNF | 1.89 | - |4.09 NLCD
$16(5/8Nom,) | 0.69 | 0.71 | 0.79 | 0.20 | 0.31 | 0.32 | 1.10 | 1032UNF | 0.49 | 3/824UNF | 1.89 | - |4.09
NLCS
67

www. TPCpage.com
www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:25 PM s]o]x]68 a1 A} $ easEl [

Series UACPW

Foot Type (UACPWL)

UACPWL

MM NN g Fa 1032 UNF
UACPWL6 \ \\
[a)
Rod Cover - |= 1
'''' ] D]
5&
A Nx[ vl oA
P LG+ Stroke
LT+2x Stroke
UACPWL10,16 E FA 10-32UNF FA E MM

MM

—D
1
i
! z
¢QZ
¢h B

| | <(‘ Il <
L] A XY | ea ea [YX| 1™ A
LM 0o LG+ Stroke B
—= —i LT +2 X Stroke
NG
2-$1C

Mounting hole

(inch)
Bore size(inch)] A | D E|FA|H |LC|LH|LA| LK|LL|LM MM GA NN LG | T X | Y | LT
$6(1/4Nom.) |0.5910.12/0.31/0.57(1.10 |0.18]0.35 |0.06 [0.95|0.65 [1.26 | 5-40 UNC |0.63| 1/4-28 UNF|2.70 | 0.12 |0.20 [0.28|4.90

$10(3/8Nom.) |0.59 [0.16|0.31/0.32|1.10 |0.180.35|0.06 [0.95 |0.65 |1.26 | 6-40 UNF |0.49 |5/16-24 UNF|1.89 | - |0.20(0.28|4.09
$16(5/8Nom.) |0.590.200.31/0.32|1.10 |0.220.55|0.09 | 1.30 |0.98 |1.65 [ 10-32 UNF |0.49 | 3/8-24 UNF|1.89 | - |0.24|0.35|4.09
Flange Type (UACPWF)
ACPWF NN oo 10-32 UNF
MM FT
UACPWF 6 5 \
Rod Cover - o )
w_ ™ HZAN
A T GA
H LG+ Stroke
LT+2xStroke
UACPWF10,16 10-32 UNF
MM N EFA FALE, NN MM
- - a s el / o
: o . - o
Jan @ B 94l AV
KJW{“'& = o N (AN [y S s =
F'K 2-$FC
Mounting hole A FTI GA GA IFT A
FM H LG+ Stroke H+ Stroke
LT+2xStroke
(inch)
Bore size(inch)| A D E FC | FT | FK | FL |FM | FA | H MM GA NN LG T LT
6(1/4 Nom.) |0.59 |0.12 {0.31 |0.18 |0.06 | 0.95|0.55 [1.26 [0.57 |1.10 | 540 UNC |0.63 | 1/4-28UNF |2.70(0.12|4.90
10(3/8 Nom.)|0.59 [0.16 [0.31 [0.18 |0.06 | 0.95|0.55 |1.26 |0.32|1.10 6-40 UNF [0.49 | 5/1624UNF [1.89| - [4.09
16(5/8 Nom.)|0.59 [0.20 [0.31 |0.22 |0.09 [1.30]0.79 |1.65 |0.32 |1.10 | 10-32 UNF |0.49 | 3/824UNF [1.89| - |4.09




039-082-ACP-APM 2012.9.7 2:25 PM slo]x]69 g+ Q15 A} $ easEl [
Series LMCP S

ACP
Standard Type/Single Acting Spring Return, Spring Extended o
Bore Sizemm(inch) : @6(1/4Nom.), @10(3/8Nom.), &16(5/8Nom.) AS
AX
® STAINLESS STEEL BODY
® HIGH CYCLE LIFE AM2
® BUMPERS STANDARD
® BUILT - IN MAGNET AM
® COMPACT LIGHT DESIGN AL
ALX
A
ABa
Symbol ﬁg%z
Single Acting/Single Rod Al
« Spring Return « Spring Extended AJM
ACK1
NSK
How to Order 7
AG
AGX
GX
(1] Air Cylinder [6] Port Location on Head Cover
Built-in magnet, Rubber cushions Svmi Bore[ 46 | 10 616 NP
are standard. ym OR size - in—I’ine
Mounting Blank |in-line|  90° ADR
B : Basic type
L : Axial foot type Special Options AMR
F : Rod side flange type Blank : Standard
D : Double Clevis type XC16 : Copperfree
(Except for $6) NDM
o Auto Switch
Bore Size(inch) (Band mounted type)
6: $6(1/4 Nom.) WS5 : Reed Switch, 0.5m Lead Wire ARD
10 : ¢10(3/8 Nom.) s# WBL : Reed Switch, 3m Lead Wire
16 : $16(5/8 Nom.) NST
(9] Number of Auto Switches
Stroke(mm) Blank : 2pcs
6:6,10, 15, 20 s ‘1 pe AST
10: 6, 10, 15, 20 N : N pes
16 : 6, 10, 15, 20
Action ASTH
S : Single Acting Spring Return
T @ Single Acting Spring Extended NLCD
NLCS
69

www. TPCpage.com
www.tpcpneumatics.com



039-082-ACP-APM 2012.9.7 2:25 PM sle]x]70 Q)34 $

Series UACPS

LEEEE e M K]

PART No. of Mounting Bracket

Mounting Bracket

Bore Size(inch)

$6(1/4 Nom.)

$10(3/8 Nom.)

4 16(5/8 Nom.)

Foot TC1P006-19 TC1P010-19 TC1P016-19
Flange TC1P006-20 TC1P010-20 TC1P016-20
#T Mounting - TC1P010-42B TC1P016-42B

#T Mounting : Double clevis type(D)

PART No. of Auto Switch Mounting Band

PART No. of Auto Switch
Mounting Band

Bore Size mm(inch) Note

$6(1/4 Nom.) TC1P0O06

Common use to
$10(3/8 Nom.) TC1PO10 all of W5 types
4 16(5/8 Nom.) TC1PO16

Standard Type/Single Acting : Single Rod/Series UACPS

Specifications

Action

Spring Return ‘ Spring Extended
Fluid Air
1.05MPa(149 Psi)
0.70MPa(100 Psi)

$0.24 0.2MPa(28 Psi) 0.25MPa(36 Psi)
$0.39, $0.63 0.15MPa(21 Psi)
Ambient and Fluid Temperature 40~140 °F (5~60C)

Rubber cushion (Standard)

None (Non-Lube)

50~750 mm/sec. (2~29.5 in/sec)

Auto Switch Specifications

Proof Pressure

Max. Operating Oressure

Min. Operating Pressure

Cushion

Lubrication

Piston Speed

. ) . Reed Switch
Mounting Bore Size mm(inch) e
Band Mounted Type | $6(1/4Nom.), #10(3/8 Nom.), $16(5/8 Nom.) Wb
Spring Retracting Force (Ibs)
Bore Size mm(inch) | Extended Position | Retracted Position
$6(1/4 Nom.) 0.84 0.40
4 10(3/8 Nom.) 1.54 0.79
4 16(5/8 Nom.) 3.20 1.54
Mounting and Accessaries
Mounting Basic Type |Axial Foot Type|Rod Side Flange Type| Double Clevis Type
Mounting Nut o o o -
Standard |Rod end Nut - - - -
Clevis Pin - - -
Single Knuckle Joint o o o
Option  |Double Knuckle Joint(with pin) o o o o
T Mounting - - - o

“ﬂ) o



039-082-ACP-APM 2012.9.7 2:25 PM s|°]=x]71 3gh=Ld4d8 4 $

LEEEE e M K]

Series UACPS

Construction/Parts List ACP
Single Acting/Spring Extended APM
UACPLII - T

AS
\ \ I AX
i AM2
| 14
— S — e e ;
AM
‘g AL
ALX
Al
ABa
AQ2
A802
———”Z (L L ABK
ACK1
UACPS6 Rod Cover, Piston
NSK
Single Acting/Spring Return =
UACPLIO - S AG
NGQ
. . _/@ AGX
i i GX
T ) i__ N
' NP
|
ﬂ{ ‘L ADR
UACPS6 Head cover, Piston AMR
Parts List NDM
No. | Description Material Note No. Description Material Note ARD
(1) Rod Cover Aluminum Alloy White Alumite © | Rod packing NBR -
(2) Head Cover Aluminum Alloy White Alumite @ | Tube gasket NBR - NST
(3} Cylinder Tube | Stainless Steel - @ | Piston gasket NBR -
(1) Piston Brass - @ | Packing retainer Aluminum Alloy |  White Alumite AST
(5) Piston Rod Stainless Steel - ® | Bumper Urethane -
O | Mounting Nut Brass Nickel Plated @ | Return spring Piano Wire - ASTH
(8) Piston Packing NBR - @® | Spring seat Brass -
@ | Magnet - - NLCD

Standard Type/Single Acting : Single Rod/Series UACPSB 9

NLCS
71

www. TPCpage.com

www.tpcpneumatics.com



039-082-ACP-APM 2012.9.7 2:26 PM slo]x]72 3+ 1A} $ ERIEDE

Series UACPS

Spring Return/Standard Type(UACPB)

UACPB ‘Bore SizeH Stroke ‘ ] ‘Pon location on Head Cover‘

MM NN 10-32 UNF R
&0 == 10-32 UNF
e /
sl e IS4 S _IS7
DIB A E_[GA GB Port location on head
H LG +stroke cover:in-line UACPSB6
[T+stroke Perpendicular : UACPSB10, 16
(inch)
LG LT
Bore (A |B|C|D|E|FB|H MM GA|GB NN
size 5~16ST | 16~30ST | 31~45ST | 46~60ST | b~15ST | 16~30ST | 31~4bST | 46~60ST

#6(1/4Nom) |0.59/0.31/0.35/0.12|0.32| = |1.10| No.5-40 UNC |0.12 | 0.28 | 1/4-28UNC| 156 191 2.07 262 2.66 301 | 317 3.72
#103/8Nom.|0.59|0.47 |0.55/0.16|0.32{0.20{1.10 | No.6-40 UNF [0.22 | 0.37 | 5/16:24UNC| 1.83 213 2,60 307 293 323 | 370 417
#166/8Nom.|0,59|0.710.79|0.2010.32(0.20|1.10 |No.10-32 UNF |0.22 | 0.37 | 3/8-24 UNC|  1.81 2.16 262 3.09 291 3.25 372 419

Spring Return/Axial Foot Type (UACPL)

UACPL ‘Bore SizeH Stroke ‘ ] ‘ Port Location on Head Cover ‘

MM NN E 10-32UNF  FB
o) L 10-32 UNF
1
s —]
Oz H e
T —
{
| - i! I
LK A KXY |ea GB B Port location on head
M H LG+stroke cover:in-line UACPSL6
[T+stroke Perpendicular : UACPSL10, 16
e O _) =
RAENE
2-8LC
mounting hole
(inch)
LG LT

Bsgr: A[B|C|D|E|FB|H|LC|LH|LA|LK|LL{LM| MM |GA|GB| NN | X|Y

516 ST | 16~30ST | 31~45T |46~60ST |6~16 ST | 16~30ST | 31~46ST | 46~60ST
#6(1/4Nom.)059(0.31(0.35(0.12/0:31| — 11.10/0.18/0.35(0.060.95| 065126 | No5-40 UNC |0.12/028 | 1/4-28UNF (020108 156 | 191 | 2.07 | 262 | 266 | 301 | 317 | 372

$10(3/8Nom.j0.59/0.470.85/0.16/0.31/0.20/1.10{ 0.1810.35/0.06|0.95| 0.65|1.26| No.6-40 UNF (0.22| 0.37| 5/16-24 UNF |0.2000.8) 183 | 213 | 260 | 307 | 293 | 323 | 370 | 417
$16(6/8Nom.j0.590.7110.790.20 0.31}0.20/1.10|0.220.55|0.09|1.30| 0.98, 1.65| No. 10-32 UNF|0.22| 0.37 | 3/8-24 UNF |0241036| 181 | 216 | 262 | 309 | 291 | 325 | 372 | 419

Y
=<




039-082-ACP-APM 2012.9.7 2:26 PM slo]x]73 =LA 14} $ easEl [

Series UACPS
Spring Return/Rod Side Flange Type (UACPF) ACP

UACPF  [Bore Size|{ Stroke| S [Port Location on Head Cover | APM
AS
AX
MM NN E 10-32 UNF  Fg .
10-32 UNF
a R AM2
— s Y . —7 —
ﬁi\ 1 | T j B Iﬁ
~ = X | A
S N ! — AM
2-$FC !
1B Port location on head
Fic Mounting A FTGA BECR cover'in-line UACPSF6 AL
FM hole H LG +stroke Perpendicular : UACPSF10, 16 ALX
LT +stroke
AS
ADQ
A82
(inch) Al 02
LG LT
Bore | alg|c|D|E|Fc|FT|FK|FLIFM|FB|H| MM |GA|GB| NN AJ
size 5~16ST | 16~30ST | 31~5ST | 46~60ST | 5~1BST | 16~30ST | 31~ ST | 46~60ST AJM
$6(1/4Nom)| 059 0.32|0.350.12{0.31 018006095055 | 1.26| - |1.10| No.5-40 UNC 0.12 {028 | 1/4-28UNF | 156 | 191 | 2.07 | 262 | 266 | 301 | 317 | 372
$100358Nom.| 059047055 0.16|0.31{0.18|0.06{ 0.95| 055 1.26{0.20| 1.10| No.6-40 UNF | 022 | 037 | 5/1624UNF | 1.83 | 2.13 | 260 | 307 | 293 | 323 | 370 | 4.17 ABK
$1668Nom.|05910.7110.7910.291031{0.22|0.09{ 1.30[0.78| 165[0.20| 110 |No.10-32 UNF| 022 | 037| 3/8-24UNF | 181 | 2.16 | 262 | 309 | 291 | 325 | 372 | 4.19
ACK1
T . NSK
Spring Return/Double Clevis Type (UACPD) .
AG
UACPD \Bore sizeH Stroke\ S \Port Location on Head Cover \
H LG+stroke QR . NGQ
A Port B | ¢CDH035+3930 CA
(Slal ort size | — +0.008"
MM NN 10320NF\| 5 Goan ooy B o é%x
W \ 5
@ S R NApET e NP
% | _
T-Mounting
OB = 4-$TA i ®
A —% ADR
= B 1—"'
™
ITF
i = AMR
LT +stroke |
LK +stroke NDM
T Mounting (inch)
ARD
Boresize | TA|TB|TC| TD| TE| TF
#10(3/8 Nom.) | 0.18(1.42 | 1.58| 1.26| 0.870.47 NST
$16(5/8 Nom.) | 0.22|1.38 [ 1.89| 1.60{ 1.10/0.63
(inch) AST
LG LT LK
(o)) ASTH

Bsf;;e A |B|C|CA|CB | D |FBIGA|GB|H | MM |Q|R|6~ |16~ |31~ |46~ |5~ |16~ |31~ |46~ | 5~ |16~ |31~ | 46~
15ST | 30ST | 46ST | 60ST | 15ST | 30ST | 45ST| 60ST |15ST | 30ST | 45T | 60ST

0| No.6-40 UNF |0.32/0.20 1.83 | 213 | 260 | 307 | 325 | 354 | 402 | 449 | 368 | 398 | 445 | 492 NLCD
0|No.10-32UNF(0.39/0.32| 1.81 | 2.16 | 262 | 309 | 331 | 364 | 411 | 459 | 386 | 419 | 467 | 514

$10(3/8Nom) {0.59(0.47|0.55|0.47|0.13(0.13(0.16|0.71|0.22|0.89| .
$16(58Nom,) |0.6910.7110.7910.71/0.26|0.2010.20|0.9110.22|1.08| 1.

NLCS

73

www. TPCpage.com
www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:26 PM slo]x]74 =LA A} $ easEl [

Series UACPS

Spring Extended/Basic Type(UACPB)

UACPB [Stroke | T

MM NN FA M5x0.8
) 2 <'J
O \ . 10-32 UNF &
UACPB6 - (IT @ = S gic a%
J ] AT
B A ET] GA GB
H+stroke LG +stroke
LT+2xstroke
NN UNF 10-32
5 MM FA
k) =]
10 - T ? <
UACPB 16 P . - A
~ N
A E| GA GB
B H+stroke LG+stroke
LT+2Xstroke

(inch)

Bore |A|B|C|D|E|FA|H| MM |GA/GB|NDh8|T | NN 6 al
size 5~15ST | 16~30ST | 31~46ST | 46~60ST | 5~16ST | 16~30ST | 31~4ST | 46~60ST

#6(1/4Nom,) (0.59]0.4710.550.1210.31/0.67| 1.10| No540UNC|0.63 | 0.12 0.2440)‘018 0,12 14BUNF | 2.03 238 254 309 | 313 348 | 364 419
$100358Nom)|0.69/0.4710.56(0.16|0.31/0.20| 1.10| No&-40 UNF| 0.49 0.22 0.32.2_022 - [5/164UNF| 1.95 2.24 272 319 | 306 33% | 382 4.29
$166/8Nom){0.59|0.710.7900.20 0.31{0.20| 1.10|No.10-32 UNR 049 0.22 0.3940;‘022 - | 3BUUNF| 193 2.26 2.74 321 303 337 | 34 431

Spring Extended/Axial Foot Type(UACPL)

UACPL Stroke| T
VM NN g FA  1082UNF
[a)
AN A= 27

UACPL6 - [T (. = H (| _I¥-
| J! E[ < |
hE=——
LK A lx Y [1] NA NB
LM H-+stroke LG +stroke
LT+2Xstroke
MM GA =
uacPe 19-Cm NN E 10-32 UNF g
o / )
§§ | Y 1 \ )
AR e 4
! L\ | <l :
LK A - B
LW—I 2-$LC XY | NA NB
R - H+stroke LG +stroke
I G © Mounting hole RESETT

(inch)

LG LT
Bore | | B|C|D|E|GA|H|LC|LH|LA|LK|LL|tM| MM |NA N8 T| X| Y| NN
size 5~1BST (16~0ST | 31~4oST | 46~00ST | B~16ST | 16~30ST | 31~4oST | 46~B0ST

#6(1/4Nom.)| 059 | 0.47/05510.12|0.31{057 |1.10{0.18/0.35 | 0.06| 0.95|0.65|1.26 |No&40UNC| 0.63 |0.12(0.12/0.200.28 | 14-28UNF| 2.03 | 2.38 | 254 | 3.09 | 313 | 348 | 364 | 419
$10(38Nom, 059| 0.47/0.55|0.16{0.31]0.32 | 1.10{0.18|0.35 | 0.06| 0.95| 0.65{1.26 |NoS-40UNF| 049022 - |0.20 08 B/164UNA 1.95 | 2.24 | 272 | 319 | 305 | 335 | 382 | 429
$1668Nom/ 0591 0.71/0.79]02010310.321.100.22|055 | 0.09| 1.30{0.98) 1.65 No.0-32UNF 049 | 0.22] - |0.24|0.35|382%4UNF| 193 | 2.26 | 274 | 321 | 303 | 337 | 384 | 431




039-082-ACP-APM 2012.9.7 2:26 PM slo]x]75 3+l a} $ el @

Series UACPS
ACP

UACPF T APM
NN B GA - 10-32 UNF
MM FT
. - 2 AS
J T ]
AX
F'K 2-$FC A Tl NA | NB
=Y Mounting hole H+stroke ) LG +stroke Rod cover Head cover AM2
LT+2 xstroke Side Side
AM
" NN £ oa 10-32UNF
< AL
- — ALX
| @ @% an _ s e o 1 1 7 3 | S 8
S = 3 ) AR
2-$FC
FK : A F||_NA N5 OB AQ2
=y Mounting hole H+stroke LG +stroke A802
LT+2Xstroke .
(inch)
LG LT
Bore | A B|C|D|E|FC|FT|FK|FL|FM|[GAl H| MM |NAINB| T| NN AM
Sl B~1BST | 16~30ST | 31~46ST | 46~80ST| B~15ST | 16~30ST | 31~46ST | 46~60ST
#6(1/4Nom,)| 059 | 047 | 055/0.1203110.1810.06|0.9 | 0.56| 1.26| 057| 1.10| No540UNC [0.24 10.12|0.12| 1/48UNF| 2.03 | 2.38 | 254 | 3.09 | 3.13 | 348 | 364 419 ABK
$1003/8Nom.| 059 | 0.47| 055(0.16 | 0.3110.18]0.06 |09 | 05| 126|032 |1.10 | No6-40UNF |049|0.22| - |51624UNF| 195 | 224 | 272 | 319 | 305 | 335 | 382 | 429
$16(5/8Nom.)| 059 [0.71] 0.79/0.20 |0.3110.22| 009|130 | 0.79] 165|032 | 1.10 |No.10-32UNF| 049 | 0.22| - | 3824UNF| 193 | 226 | 274 | 321 | 303 | 337 | 384 | 431 ACK1
NSK
Spring Extended/Double Clevis Type (UACPD) G T
UACPD T
LG+stroke QR # CDrog 9% A NGQ
MM | FA~ Portsize GB (# odas 550°) cB X
N O Y . , 10-32UNF | GX
e B 1
17 e mp— Al — B i ] e
P/ —L ! T-Mounting  { 7 NP
. A e
B i
H+stroke GA il
; : ADR
i AMR
TE
LT+2 xstroke |
LK +2xstroke ' NDM
T Mounting (inch)
ARD
Boresize | TA|TB |TC|TD| TE| TF
410(3/8 Nom.)| 0.18|1.14 | 1.68| 1.26| 0.87|0.47 NST
$16(5/8 Nom.)| 0.22(1.38 | 1.89| 1.50| 1.10| 0.63
(inch) AST
o = . = ASTH
Bsgg" A|B|C|CA|CB (cd) D |FB|GA|GB| H MM Q|R[B~ | 16~ |31~ | &6~ | B~ |16~ | 31~ | 46~ | b~ | 6~ | 31~ | &6~
1B5ST | ST | 4ST | 60ST | 15ST | 0ST | 4&ST| 60ST| 1BST| ST | 4ST| 60ST
$10(3/8Nom.)| 0.59|0.47/0.55|0.47|0.13|0.13|0.16|0.32|0.49/0.891.10| No 6-40 UNF [0.320.20| 2.11 | 240 | 2.87 | 335 | 352 | 382 | 429 | 476 | 396 | 425 | 472 | 520 NLCD
$16(5/8Nom.)|0.59|0.71/0.79|0.71{0.26(0.20|0.20|0.32{0.49|1.08/1.10| No10-32 UNF [0.39(0.32| 2.09 | 242 | 289 | 337 | 358 | 392 | 439 | 486 | 413 | 447 | 494 | 541
NLCS
75

www. TPCpage.com
www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:26 PM sle]x|76 Q)34 $

Series UACPS

LEEEE e M K]

Auto Switch/Internal Circuit

Light emitting diode

-

“Reed switch

,.

'

H

'

'

I

|

'

0

i

I

i

L
@
[y
Q
QL

Specifications W5 (With indicator lamp)

Auto Switch Model W5

Application Relay, Sequence Control
Load Voltage DC24V AC110V
Max. Load Current/Range of Load Current 5~40mA 5~20mA
Protection Circuit for Contact Breaker Point None

Internal Voltage Drop 2.4V or less

Indicator Lamp

ON':Red light emitting diode

« Leakage Current — None

* Response Time — 1.2ms

» Lead Wire — Qil proof vinyl, ¢3.4 0.2mi, 2 Wire(red, black),
0.5m(18in)

* Impact Resistance— 30G

* Insulation Resistance — 50M &£ or more under the test voltage 500VDC
(Between case and cable)

« Withstand Voltage — 1500VAC 1min (between case and cable)

» Ambient Temperature — 14~140°F (-10~60¢C)

« Protection Structure — IEC spec IP67, Water-proof (JISC0O920), oil-proof.

# If 118 inch lead wire is required, L is put at the end of numbers.
Example : W5L

Auto Switch Dimensions

inch(mm)

0
© 1.02(26) 0.08(2)
&| 0.35(9)
_ o
@ -
™ )
3 0
o
Indicator Lamp
0.17(4.3)
ey
o
Ja_[ A& B —
o5 } 7
<[
d o
0.14(¢ 3.5) L I_IOperating Range(See List Below)
.37(9.5)

Most Sensitive Position

Operating Range( ! Dimension) inch (mm)

. Bore size
Series
$6 (/Nom) $ 10 (Bghom.) $ 16 ©gom)
0.28 0.31 0.31
UACP : : :
(7) (8) (8)




039-082-ACP-APM 2012.9.7 2:26 PM slo]x]77 =LA 34} $ easEl [
Series AF M

ACP
Bulkhead Mounted Mini Cylinder o
Bore Size(mm) : @6, @10, @16 AS
AX
® HIGHER SHOCK-ABOSORBENCY WITH
SPECIAL COATING ON THE CYLINDER AM2
TUBE
® OUTSTANDING DURABILITY WITH A AM
BRONZE ALLOY WITH HIGH WEAR AL
RESISTANCE ON THE ROD COVER ALX
® VARIOUS SPECIAL HOSE NIPPLE OPTIONS |AQ
AQ2
53
Symbol
AJ
AIM

VvV ABK

Cylinder KS Symbol

ACK1
NSK
How to Order 7
AG
APM B 6 — 10 — N4 — B NGQ
] s K
NP
(1] Panel Mounting Cylinder Hose (Tube) Nipple Attachment
Blank : No Nipple ADR
Mounting
B : Standard Category| TYPE |Tube O.D| Tube I.D
S @ Block Insertion H4 24 22 AMR
L : Foot Mount :Z Cap Type g;‘ ‘3;45
F : Flange Mount
P : Plate Mount N4 24 22 NDM
N5 Barb Type| @4 @25
Bore Size(mm) NG 26 | @4 ARD
6: 26 3 Refer to the table attached for specific properties and sizes.
10: 210
15: @15 [6] Rod End Shape NST
Blank : Male Thread
Stroke (mm) B :NoThread
5 5mm AST
10 : 10mm
15 15mm
ASTH
3 Note) Hose (tube) nipple attachment is not
available for the block insertion type.
NLCD
NLCS
77

www. TPCpage.com
www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:26 PM s]o]x]78 3+ 1A} $ ERIEDE

Series APM

Bore Size(mm)
Category
26 | 210 | 15
Fluid Air
Acting Single Acting(Spring Return)
Proof Pressure 1.05Mpa(10.7kgf/cr)
Max. Supply Pressure 0.7Mpa(7.1kgf/cr)
Min. Operation Pressure 0.2Mpa(2.0kgf/cm) 0.15Mpa(1.5kgf/cr)
Ambient and Fluid Temperature —10~70C(No Freeze)
Rod End Shape Male Thread (Standard)
Thread Tolerance KS Class 2
Standard Stroke Tolerance 5,10, 15mm / 0~+1.0mm
Lubrication Not required (Non—lube)
Piston Speed 50~500mm/sec
Cushion N/A

Spring Force

Bore Size(mm) Sitrels (o)
) 10 118
76 4.36/1.47 4.33/1.47 4.211.47
210 6.66/2.94 7.55/2.94 7.45/2.45
215 11.86/6.57 12.35/5.40 12.70/5.78

Note) The retrieval of spring is indicated as start of retrieval / end of retrieval of the piston.

Theoretical Force

) Pressure (Mpa)
Type Bore Size Operation Direction
02 | 03 | o4 [ o5 | o6 | o7
Retract(Spring Return) Max. (Start) 4.33 ~Min. End) 1.47
APM 6 6
Extend 12 | 40 [ 67 [ 95 | 123 [ 151
Retract(Spring Return) Max. (Start) 7.55 ~Min. End) 2.45
APM 10 10
Extend 78 | 155 | =32 | s09 | 386 | 463
Retract(Spring Return) Max. (Start) 12.7 ~Min. End) 5.4
APM 15 15
Extend 29 | s92 | 5 | 78 | 912 [ 1085

Note IN=0.102kgf, 1TMPa=10.2kgf/cn’
The OUT value bears the maximum load in the retrieval.




039-082-ACP-APM 2012.9.7 2:26 PM slo]x]79 a1 a} $ easEl [

Series APM

Construction ACP
APM
AS
AX
= —\
= AM2
N _}_ - —_
\__/ AM
Hose Nipple Attached AL
(SHN5—% % % %) ALX
A8
ADQ
A82
Components @ @ ADQ2
AJ
No Parts Counts Materials Remarks AJM
0 Rod Cover 1 Bronze Alloy Non—conductive Nickel Coating
(2] Cylinder Tube 1 Bronze Alloy Non-conductive Nickel Coating ABK
(3] Retun Spring 1 Spring Steel Zinc Coating
o Nut 2 Bronze Alloy Non-conductive Nickel Coating ACK1
(5] Piston & Piston Rod 1 Stainless Steel Lightweight Chrome Coating
(6] Nut 2 Mild Steel Nickel Coating NSK
(7] Piston Packing 1 Rubber -
(&) Gasket 1 Rubber AG
(] Orifice Plug 1 Carbon Steel Nickel Coating Block Insertion Type
Note) Non Repairable Cylinder. (APMS x % —x % Type) NGQ
APMB+** Standard Cylinder Dimensions AGX
GX
NP
Air Exhauster
2-Rod~top Nuts NN M5%0.8 ADR
(Refer to TPC1 Cylinder Sizes)_\ Piping Port
N
C0.5 MM _\ /—VAW AMR
_ i w _‘ L] I | N A
NDM
2c
\ > Hose Nipple ARD
O (SHNS—* % Xk
A Refer to the Table Attached
0.5~1 2-W E
; = NST
B (APM >  —> % —B Type) -
AST
\unit. mm)
BoeSze| o | 5 | gc| @D| E | oF | 2G| H L MM " R 2 w ASTH
(3. mm) 5 Strokes| 10 Stokes | 15 Strokes 5 Strokes | 10 Strokes |16 Strokes
6 7 12 | 13.9 3 4 85| 85 9 275| 345 415 M3x0.5 M10X1.0 9 185 | 26,5 | 32.5 3
10 10| 19 ] 215 5 55| 125| 12 12 | 325| 39 | 46 M4x0.7 M16X1.6 | 13 | 205 | 27 34 4 NLCD
15 12 27 | 30.5 6 6 185 19 14 | 375] 435| 50 M5X0.8 M22X1.5 20 | 235|295 | 36 5
NLCS
79

www. TPCpage.com
www.tpcpneumatics.com



LEEEE e M K]

039-082-ACP-APM 2012.9.7 2:26 PM silo]x|80 )34} $

Series APM

APMS+* (Block Insertion Type) Cylinder Dimensions

M5%0.8X 5L NN
Gasket —\ Orifice Plug 777[
Yy jﬂ—’ ol -/
2 /
1T HE=FN =1 g
— - [S) — IS
A/ J
L )W 7 7 \B\ock
J sc
K I SB
Nut Attach 1
ut Attachment (1) SA SAMax)
Block Assembly
Note) The indications and the cylinder size is identical to those of APMBx*+.
(Unit: mm)
Bore Size | Gasket &Plug | J K | @b | gop SA S8 | scC NN
(@. mm) Kit No. 5 Strokes | 10 Strokes | 15 Strokes
6 APMS6—-CK 2.5 1.4 3 6.7 8.5 15.5 22.5 29.5 5.5 3 M10X1.0
10 APMS10-CK 2.8 1.6 3.2 9.9 12 16.5 23 30 7 3.3 M15X1.5
15 APMS15—-CK 3 1.8 4 16.8 19 18.5 24.5 31 7.5 3.5 M22X1.5
APMF++* (Flange Attachment Type) Cylinder Dimensions
NN FOOT

/—Z—QIFC

1 . e \
o o
IS
N L
FX “ P Nut Attachment (1)
Fz FT
Note) The indications and the cylinder size is identical to those of APMBx*x.
(Unit: mm)
Cylinder Flange No. 20 P Q @FC FT FX FY FZ NN
APM6 APM6—20A 12 1.5 1.5 4.5 1.6 24 14 32 M10x1.0
APM10 APM10—20A 18 2 2 5.5 2.3 33 20 42 M15x%1.5
APM15 APM15—20A 26 2.4 3 7 4 60 34 75 M22x1.5




LEEEE e M K]

039-082-ACP-APM 2012.9.7 2:26 PM 3s|°]=]81 gr=L4d A} $

Series APM

APMP++ (Plate Attachment Type) Cylinder Dimensions ACP
APM
AS
y AX
AM2
b = - AM
AL
ALX
A8
A Nut Attachment (1) A Q
A82
' ADQ2
N__ 2—@PC Through | PH
2-@PD C. BORE/Depth 2-@PC Thiough—"| AJ
PT PY AJM
Note) The indications and the cylinder size is identical to those of APMBxx. ABK
(Unit: mm)
Cylinder Plate No. PH PT PX PY Pz @PC @PD / Depth MM NN ML ACK1
APM6 APM6—21A 10 9 22 20 32 43 7.5/45 M5%0.8 M10x1.0 7 NSK
APM10 APM10—21A 12.5 10 32 25 43 5.2 9/55 M6X1.0 M15%1.5 9
APM15 APM15—21A 17 12 42 34 56 6.8 10.5/6.5 M8X1.25 M22x1.5 13 NGQ
(* Material: Aluminum Alloy)
. . . NGQ
APML+** (Foot Attachment) Cylinder Dimensions
AGX
' GX
D
| NP
T ADR
5 - i
::E!
AMR
<
I ] &
T .
i NDM
-
L
] ARD
Note) The indications and the cylinder size is identical to those of APMBx+. NST
(Unit: mm)
. AST
Cylinder Foot No. @0 P Q X Y @LC LH LT LX LY Lz NN
APM6 APM6-19A 12 15 1.5 7 12 45 9 1.6 24 16.5 32 M10X1.0 ASTH
APM10 APM10—19A 18 2 2 9 15 55 14 2.3 33 25 42 M15X1.5
APM15 APM15—19A 26 2.4 3 20 28 6.8 23 3.2 40 40 55 M22X1.5 NLCD
(= Material: Cold—rolled Steel)
NLCS
81

www. TPCpage.com

www.tpcpneumatics.com




039-082-ACP-APM 2012.9.7 2:26 PM s]o]x]82 3+ 1A} $ el @

Series APM

APM=+*Cylinder's Nut Attachment Dimensions

1)

PO

(Unit: mm)
ficabl
ool Item No. H NN

6 APM6-13A 12 13.9 3 M10%1.0

10 APM10—-13A 19 21.5 4 M15%1.5

15 APM15—13A 27 30.5 5 M22x1.5

Cap-type Hose Nipple Dimensions
Tube Applied

NBR Coating Washer (TUK % % %)
(98X §4.8% 20.61)

M5%0.8 _\3_ /

| | N ;|E_ | o
‘@E % s| §
| —
’ 3.9 (D) E
" - "shaped knurling
08 L

20.8 ORIFFICE
Note) The nipple and the cap are made of bronze alloy and are coated with nickel on the surface. (Unit: mm)
ltem No. Tube Applied DEMENSION
(@A | (2B) | @C D E L
SHN5-20402 TUK0402 4 2 75 157
SHN5-20425 TUK0425 2.5 9 2.8
SHN5-20604 TUK0604 6 4 8.5 16.7

Barb-type Hose Nipple Dimensions
Tube Applied

(TUK %)
Washer for Sealing

(28x @4.8X @0.6t) \
P

X0. - — - ‘

(2A)

3.9 (D) E
L
0.8 ORIFFICE
Note) The nipple is made of bronze alloy and is coated with nickel on the surface. (Unit: mm)

ltem No. Tube Applied SISO

(@A) (2B) ac (D) E L

SHN5-10402 TUK0402 4 2 2.9 25 6.3 12.8
SHN5-10425 TUK0425 2.5 3.5 6.5 13
SHN5-10604 TUK0604 6 4 5.2 3 8 15




